EARAROBREBRT —5 XN—ZXBISH—F 2023128218 (R) 208R&E2H

N 2R3 YSR2m® (s | EEm - | 9 o0 B
[AXE%) 1 &:600,00H ~ 23#%&:210,000F  337%:120,000H  43#&:90,000H . 5 3&:60,000
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
" FIT5eig :38. -3-1- . - WEEX (BHE)
11810l PEUP Y=L 2 e 1(3_5)5 3-3-1-1 | 39.8 4 (4_35 P
R:ZTvF—oO-U— BINFFIE ESHIT7—L
Sy R o2 | SHEK 1:39.2 6-6-3-2 | 40.1| — 1 474 | FHES (ZER)
VAR EZZA AN %50 ) @) |BEER
RZAMOVIUT—Y B:HYZ—LA =)
FEIBRER, : -5-6- - MFK (BEE
e : PiEa=EZaN=E" 2% R A I LA
R:TVF«FSRA 8:758-5 YUY v A VKIS
< v 2 | AREDS 1:40.1 10-10-7-5 | 40.6 | — 8 | 42 |SEBZ (REE)
N . VARPEEECIN ! 54.0 a1/2 (+4) nsi
R:PYSANIVE B:vX—)LO7 BEE &
R SREpEA . _1-9- — BUIE—5 (|/aR)
5 5 | TURZZRAY it 2 i) 1(74?:)2 1-1-2-3 | 41.2 5 48)2 oL
RIAYVEAY BAEATI/ BT BFE s
N » = 8 2 | ALEFBSE 1:40.5 4-4-5-7 | M.2| — 3 377 | HFLE— (BER)
6|8[11| YF/AN= 54.0 (1172 vy | BT
R:FRIAVL—Y B:F9/FRS—T) RO4S
< BAEE : -7-8- - ROHRE (BEE
1 - BEZEERPZ: P 2| B o A L
R:I—IWRFPII— B:SFUH= [OEY=DE ¢
— 5~ s 2 | #1EEE 1:41.1 8-8-9-9 |41.2| — 10 04 | ROFFE (BEE)
8|78 FTU—TF5V 54.0 2172 (-6) BN
KRNMVTSY B:FTU-RTUVD HH B
— 4 2 | KBRS 1:41.4 9-9-11-10 | 41.3 | — 11 | 433 |WEEX (BEE)
91111 TILNY—IL A52.0 11/2) -2) SREHHH
RiRIRKY BIZUV—YH-IL BR|t IRF«4T77—L4
= 4 2 | ETE 1:41.4 2-2-4-8 |42.3| — 7 34 | WFPOE (BEE)
EH 3| 704N $52.0 F9I<) © |WAEL
RiFVVvH/FEE BISSToRIL EA mEsh
w S = e NOEEES— : -11-10- - BOXX (BaE
1nlsls | 91A—TIWRS R 4 2 e 1.(432).0 11-11-10-11| 41.9 9 (4_517) @Eﬁ;& ( )
R:Z2MOAVITVI—Y BIAH—F4T75 sl @
@ 1—F—&RIEL
13—7— 2,3,10,11,4,9,6,8,1,7,5
20— — 2,3,10,11,4,9,6,8,1,7,5
30—7F— 10,2,9,3,11,4,7,6,8,5,1
AS—f— 10,9,2,4,7,6,11,3,8,1,5
o ILRE
BB 10 860M4 JA R 9-10 410/ % 3E 7-8 3904 3EE 4-9-10 1,240
B B 10 210 4-10 800 5 E 9-10 720 3EH 10-9-4 10,960/
110 4-9 230 Ba 10-9 3,100H
4 150M9

ABIC OV TRUTEREERRODDZE. THRIIZEL.



